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o & FEEH O BB #Y5E izpopiE] # Y H 3 8 »xt H 3l
(BE kg kg kg |EE2E B =iE i 218 e s Ey
1101 K48 EE 24 48 48 0 2.00 0 92 0 0 0 0
(D 398 3,812 48 3,764
M3 TEEAS BE 230 2, 300 0 2, 300 10. 00 0 0 0 1, 404 0 540
EE 45 450 0 450 10. 00 0 0 0 1,242 0 1,188
)] 275 2,150 0 2,750
1121 45 (6] 3 30 0 30
1141 4R HE 8 40 0 40 5.00 0 0 0 2, 808 0 1,296
GH 8 40 0 40
1201 B3 £H 2 30 0 30 15.00 0 0 0 0 1,512 0
(&1) 118 1,770 0 1,770
1203 v Ry 24 78 780 0 780 10.00 0 0 0 648 0 540
EE 270 2,700 0 2,700 10. 00 0 0 0 864 0 324
(&H 348 3, 480 0 3, 480
1206 Z5hAE | EE 1,191 476 476 0 0.40 162 0 43 0 0
E =] 300 60 0 60 0.20 0 0 0 0 81
EH 1, 491 536 476 60
12071 54 (&) 1,494 216 148 68
1209 B & Bl 25 75 0 75 3. 00 0 0 0 1,728 0 1,512
6] 40 140 0 140
1301 A% L= 200 60 0 60 0.30 0 0 0 0 105 0
ey = 20 40 0 40 2.00 0 0 0 918 0 864
=51 1,280 384 0 384 0.30 0 0 0 86 0 79
= 30 150 0 150 5.00 0 0 0 1,620 0 1.512
(& 1,555 700 0 700
1311 b= b EE 12 72 12 0 6.00 2,646 0 1,134 0 0 0
¥ 192 768 0 768 4.00 0 0 0 972 0 864
(&H 204 840 12 768
1321 &A1 EiE 294 1,470 0 1,470 5.00 0 0 0 1, 296 0 1,026
(&) 295 1,474 4 1,470
13851 E—<> S50 2,400 360 0 360 0.15 0 0 0 0 70 0
(D 2,400 360 0 360
1403 Km = = 30 30 0 30 1.00 0 0 0 1,944 0 1,296
(&H 30 30 0 30
1501 HiE e 6 30 0 30 5.00 0 0 0 0 1, 080 0
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m A& FEEH |G #UFE faxtE5| + U H 3l H » H 3l
(EE kg kg kg |HEEE B =1 Hi{E R{E =i GRE 2l
(&H) 6 30 0 30
1513 A =04 | BER 240 2,400 0 2, 400 10. 00 0 0 0 2,160 0 1,620
EhH 340 3, 400 0 3., 400
1541 £%& EE 760 7, 600 0 7,600 | 10.00 0 0 0 1,026 0 486
(&) 760 7, 600 0 7,600
18515 - & | BE 3 30 0 30 10. 00 0 0 0 0 6, 696 0
EH 3 30 0 30
1553k L-ZE 4 |EE 2 20 0 20 10. 00 0 0 0 0 8, 208 0
(EH 2 20 0 20
1603 LY — GH 2 20 0 20
1609 7wy | F 94 564 0 564 6.00 0 0 0 2,376 0 972
GhH 94 564 0 564
1611 L& R R 10 50 0 50 5.00 1,296 1,080
EE 20 200 0 200 | 10.00 1,782 1,404
1) 30 250 0 250
16129 =—L4R | R 20 100 0 100 5.00 0 0 0 1,296 0 1,188
GhH 20 100 0 100
16272 =h= b |ENI 600 120 0 120 0.20 0 0 0 92 0
X 147 441 0 AN 3.00 0 0 1,080 0 972
Eh 872 595 0 595
1705 4% f=psl 750 60 0 60 0.08 0 0 0 70 0 38
(&D 904 88 0 88
1803 £#E GhH 950 125 0 125
1807 8H R 150 15 0 15 0.10 0 0 45 0
& 810 162 0 162 0.20 0 86 0 72
EbH 960 177 0 177
1809 L&H L &% 150 15 0 15 0.10 0 40 0
£H 1, 350 270 0 270 0.20 86 0 80
GH 1,500 285 0 285
* 53 4EET % 26, 845 51,833 1,345 50, 488
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T TEEH H O OB OB HUFE RS ENE] # Y 3 8 xf Hz 3

B kg kg kg |HEEH B =il il RiE =1 i g}

2119 HE# EiE 121 1,815 0 1,815 15.00 0 0 0 4, 050 0 3,726
GH 121 1,815 0 1,815

21023730 | FF 10 100 0 100 10. 00 0 0 0 0 4, 860 0
(&H 10 100 0 100

2218+ & 20 200 0 200 10. 00 0 0 0 5,940 0 5,184
(&H) 20 200 0 200

2225 & 5 50 0 50 10.00 0 0 0 0 4,968 0
G 5 50 0 50

2701 7—ILR  |®E 18 0 18 9.00 0 0 0 15,120 0 12, 960
GD 18 0 18

N4 R = R 85 425 0 425 5. 00 0 0 0 3,024 0 2,160
&D 85 425 0 425

2131 A& HER 53 795 0 795 15. 00 0 0 0 4,752 0 3, 564
G1) 53 795 0 795

2811 & Al 388 116 0 116 0.30 0 0 508 0

EI% 380 103 0 103 0.27 0 508 0 454
Gh 768 219 0 219

2935w I =G 90 36 0 36 0.40 0 0 0 1, 836 0 1,620
GhH 90 36 0 36
* Sy EEEH * 2,308 7,316 0 7,316




